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3HQHOLWLDQ LQL EHUWXMXDQ XQWXN PHQJHWDKXL �� EHQWXN SDUWLVLSDVL PDV\DUDNDW
GDODP EHQWXN WHQDJD XQWXN PHQGXNXQJ�SURJUDP�.27$.8� ���EHQWXN�SDUWLVLSDVL�
PDV\DUDNDW� GDODP EHQWXN SLNLUDQ XQWXN PHQGXNXQJ� SURJUDP� .27$.8�� ���
EHQWXN� SDUWLVLSDVL� PDV\DUDNDW� GDODP EHQWXN EDUDQJ XQWXN PHQGXNXQJ SURJUDP�
.27$.8 GDQ� ��� EHQWXN� SDUWLVLSDVL� PDV\DUDNDW� GDODP� EHQWXN XDQJ GDODP
PHQGXNXQJ SURJUDP .27$.8 GL� .HOXUDKDQ� .XUDR� 3DJDQJ� .HFDPDWDQ�
1DQJJDOR�

3HQHOLWLDQ LQL PHUXSDNDQ MHQLV SHQHOLWLDQ GHVNULSWLI� 3RSXODVL SHQHOLWDQ
DGDODK PDV\DUDNDW GL� .HOXUDKDQ� .XUDR� 3DJDQJ� 6DPSHO GLDPELO GHQJDQ WHNQLN
UDQGRP�VDPSOLQJ� 6DPSHO SHQHOLWLDQ DGDODK SHQGXGXN .XUDR 3DJDQJ�\DQJ�EHUDGD��
5:���GDQ EHUXPXU !���WDKXQ��6DPSHO EHUMXPODK����RUDQJ��7HNQLN DQDOLVLV GDWD�
DGDODK SHUVHQWDVH�

+DVLO SHQHOLWLDQ LQL PHQXQMXNNDQ EDKZD�� ��� 3DUWLVLSDVL� PDV\DUDNDW� GDODP�
EHQWXN�WHQDJD�\DLWX�PHQJLNXWL�NHJLDWDQ�JRWRQJ�UR\RQJ�VHFDUD�UXWLQ�����3DUWLVLSDVL�
PDV\DUDNDW� GDODP� EHQWXN� SLNLUDQ� \DLWX� PHPEHULNDQ� SHQGDSDW� NDSDQ�
GLPLQWD�GLSHUOXNDQ� VDMD�� ��� 3DUWLVLSDVL� PDV\DUDNDW GDODP� EHQWXN� EDUDQJ� \DLWX�
PHPEHULNDQ� EDQWXDQ� PDNDQDQ� SDGD� PDV\DUDNDW� \DQJ� JRWRQJ�UR\RQJ� GDQ� ���
3DUWLVLSDVL�PDV\DUDNDW�GDODP�EHQWXN�XDQJ�\DLWX�PHPEHULNDQ�EDQWXDQ�XDQJ�XQWXN�
NHJLDWDQ� SHPEXDWDQ� SDJDU� GDQ� XDQJ� \DQJ� GLEHULNDQ� PDV\DUDNDW� EHUDGD� SDGD�
QRPLQDO�UHQGDK�VHEHVDU���5S���������
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